

MEMO

To: The Honorable Mike DeWine, Governor, State of Ohio

The Honorable Mark Romanchuk, Chair, Ohio Retirement Study Council
The Honorable Bob Peterson, Chair, House Public Insurance and Pensions Committee

The Honorable Kristina Roegner, Chair, Senate General Government Committee Ms. Bethany Rhodes, Director and General Counsel, Ohio Retirement Study Council

From: Karen Carraher, Executive Director

Ohio Public Employees Retirement System

Date: March 1, 2025

Re: 2024 – 2025 Disability Report pursuant to ORC Section 145.351

The following is a summary of the 2024-2025 Ohio Public Employees Retirement System Disability Activity Report as required by Section 145.351 of the Ohio Revised Code. Attached is a detailed disability experience report for each employer.

Disability Summary Year 2024 (Submitted to ORSC 03/01/2025)

Employer Group/ Classification Type	2024 Start (In Process)	2024 Submitted	2024 Granted	2024 Denied	2024 Canceled	2024 End (In Process)	Percent of Disability Recipients to Active Members
State	50	216	141	10	88	27	6.26%
Local	61	336	203	12	112	70	4.46%
Law/Public Safety	3	26	20	1	5	3	18.58%
Total	114	578	364	23	205	100	5.45%

Experience Versus Annual Actuarial Assumption

Employer Group/ Classification Type	2024 Percent Granted to Active Members	2024 Granted to Active Members (actual #)	Most Recent Annual Actuarial Disability Assumption (as %/actual #)
State	0.14%	141	0.23% (239)
Local	0.10%	203	0.19% (337)
Law/Public Safety	0.24%	20	0.59% (46)
Total	0.12%	364	0.22% (622)



Common Disabilities

Condition (recipient may have multiple conditions)	2020	2021	2022	2023	2024	5-Year Total	Percent
Psychiatric	101 (16%)	99 (19%)	153 (18%)	121 (17%)	113 (18%)	587	17%
Neurological	76 (12%)	59 (11%)	109 (12%)	91 (13%)	63 (10%)	398	12%
Musculoskeletal (including orthopedic)	202 (32%)	149 (28%)	300 (35%)	260 (36%)	216 (34%)	1,127	33%
Oncologic	73 (12%)	66 (13%)	82 (10%)	87 (12%)	87 (14%)	395	12%
Cardiovascular	74 (12%)	75 (14%)	101 (12%)	66 (9%)	72 (11%)	388	12%
Other*	99 (16%)	81 (15%)	116 (13%)	91 (13%)	80 (13%)	467	14%
Total	625	529	861	716	631	3,362	100%

^{*} Other includes pulmonary, gastrointestinal, eye, ear, nose, and throat, endocrine, renal, hematologic, infectious disease, and sleep disorders.

5-Year Summary of Percent Granted to Active Members (%/actual #)

Employer C Classifica		20	20	2021		2022		2023		2024		5-Year Average	
		%	actual #	%	actual #								
Non-Law	State	0.15%	155	0.16%	156	0.21%	209	0.18%	181	0.14%	141	0.15%	434
NOTI-Law	Local	0.16%	289	0.13%	246	0.18%	342	0.14%	248	0.10%	203	0.15%	454
Law/Public Sa	afety	0.43%	36	0.39%	32	0.53%	43	0.32%	24	0.24%	20	0.38%	31



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	ADJUTANT GENERAL	281	2	1	0	0	1	28	0.36%	9.96%
STATE	AGRICULTURE DEPT	489	1	2	0	0	0	28	0.41%	5.73%
STATE	ALLEN/OAKWOOD CORRECTIONAL INSTITUTE	416	2	1	0	1	0	22	0.24%	5.29%
STATE	ATTORNEY GENERAL	1,534	4	4	1	1	1	62	0.26%	4.04%
STATE	AUDITOR OF STATE	773	2	1	0	2	0	41	0.13%	5.30%
STATE	BELMONT CO CORRECTIONAL INSTITUTION	422	1	2	0	0	0	31	0.47%	7.35%
STATE	BOARD OF REGENTS	83	1	1	0	0	0	1	1.20%	1.20%
STATE	BOWLING GREEN STATE UNIVERSITY	2,604	2	1	0	1	0	84	0.04%	3.23%
STATE	CAMBRIDGE DEVELOPMENTAL CENTER	137	1	1	0	0	0	45	0.73%	32.85%
STATE	CHILLICOTHE CORRECTIONAL INSTITUTE	464	3	2	1	0	0	132	0.43%	28.45%
STATE	CIRCLEVILLE JUVENILE CORRECTIONAL	224	3	4	1	0	0	44	1.79%	19.64%
STATE	CLEVELAND STATE UNIVERSITY	1,807	2	1	0	0	1	27	0.06%	1.49%
STATE	COLUMBUS DEVELOPMENTAL CENTER	307	2	0	0	2	0	45	0.00%	14.66%
STATE	COMMERCE DEPT	962	1	0	0	0	1	71	0.00%	7.38%
STATE	CORRECTIONAL RECEPTION CENTER	501	1	0	0	1	0	72	0.00%	14.37%
STATE	CORRECTIONS MEDICAL CENTER	475	3	4	0	0	0	56	0.84%	11.79%
STATE	CUYAHOGA HILLS BOYS SCHOOL	243	1	0	0	1	0	24	0.00%	9.88%
STATE	DEPARTMENT OF CHILDREN AND YOUTH	590	2	0	0	1	1	0	0.00%	0.00%
STATE	DEPARTMENT OF VETERANS SERVICES	563	2	0	0	2	0	39	0.00%	6.93%
STATE	DEPT OF ADMINISTRATIVE SERVICES	771	4	0	0	3	2	71	0.00%	9.21%
STATE	DEPT OF EDUCATION	476	2	1	0	1	0	8	0.21%	1.68%
STATE	DEPT OF TAXATION	754	5	2	0	3	0	54	0.27%	7.16%
STATE	DEPT OF TRANSPORTATION	5,203	14	14	1	3	1	597	0.27%	11.47%
STATE	DEVELOPMENT SERVICES AGENCY	307	1	1	0	0	0	21	0.33%	6.84%
STATE	ENVIRONMENTAL PROTECTION AGENCY	1,064	0	1	0	0	0	35	0.09%	3.29%
STATE	GALLIPOLIS DEVELOPMENTAL CENTER	257	3	2	0	2	1	65	0.78%	25.29%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	GRAFTON CORRECTIONAL INSTITUTION	369	1	0	0	2	0	30	0.00%	8.13%
STATE	HEALTH DEPT	1,207	2	0	0	2	0	63	0.00%	5.22%
STATE	HEARTLAND BEHAVIORAL HEALTHCARE	247	1	0	0	1	0	18	0.00%	7.29%
STATE	INDIAN RIVER BOYS SCHOOL	228	3	2	0	1	1	22	0.88%	9.65%
STATE	INDUSTRIAL COMMISSION	279	2	1	0	1	0	18	0.36%	6.45%
STATE	JOB AND FAMILY SERVICES	1,779	7	4	1	2	0	245	0.22%	13.77%
STATE	KENT STATE UNIVERSITY	3,511	7	5	0	2	1	106	0.14%	3.02%
STATE	LEBANON CORRECTIONAL INSTITUTE	422	1	1	0	0	0	71	0.24%	16.82%
STATE	LONDON CORRECTIONAL INSTITUTE	329	0	2	0	0	0	45	0.61%	13.68%
STATE	LORAIN CORRECTIONAL INSTITUTION	395	2	1	0	1	0	29	0.25%	7.34%
STATE	MADISON CORRECTIONAL FACILITY	452	0	1	0	0	0	48	0.22%	10.62%
STATE	MANSFIELD CORRECTIONAL INSTITUTE	516	7	2	0	4	2	69	0.39%	13.37%
STATE	MARION CORRECTIONAL INSTITUTE	384	3	2	0	1	0	39	0.52%	10.16%
STATE	MEDICAID	750	1	0	1	0	0	3	0.00%	0.40%
STATE	MEDICAL BOARD OF OHIO	97	1	1	0	0	0	0	1.03%	0.00%
STATE	MENTAL HEALTH SUPPORT SERVICES	644	5	3	0	1	2	37	0.47%	5.75%
STATE	MIAMI UNIVERSITY	3,024	5	3	0	1	1	114	0.10%	3.77%
STATE	MOUNT VERNON DEVELOPMENTAL CENTER	173	2	1	0	1	1	46	0.58%	26.59%
STATE	NATURAL RESOURCES ADMINISTRATION	2,038	4	2	0	3	0	115	0.10%	5.64%
STATE	NORTH OHIO DEVELOPMENTAL CENTER	217	1	1	0	0	0	55	0.46%	25.35%
STATE	NORTHCOAST BEHAVIORAL HEALTHCARE SYS	468	2	2	0	0	0	114	0.43%	24.36%
STATE	NORTHEAST REINTEGRATION CENTER	158	1	0	0	1	0	11	0.00%	6.96%
STATE	NORTHWEST OHIO PSYCHIATRIC HOSPITAL	219	0	1	0	0	0	4	0.46%	1.83%
STATE	OHIO STATE PENITENTIARY	309	1	0	0	2	0	48	0.00%	15.53%
STATE	OHIO STATE UNIVERSITY	26,469	29	20	1	11	3	571	0.08%	2.16%
STATE	OHIO TURNPIKE AND INFRASTRUCTURE COMM	630	3	3	0	0	0	46	0.48%	7.30%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
STATE	OHIO UNIVERSITY	5,050	4	3	0	2	0	153	0.06%	3.03%
STATE	OHIO WOMEN'S REFORMATORY	461	1	1	0	0	0	51	0.22%	11.06%
STATE	OPPORTUNITIES FOR OHIOANS WITH DISABIL	1,288	4	2	0	2	1	106	0.16%	8.23%
STATE	PAROLE AND COMMUNITY SERVICES	879	4	1	1	1	1	83	0.11%	9.44%
STATE	PUBLIC SAFETY ADMINISTRATION	2,244	8	3	1	6	0	149	0.13%	6.64%
STATE	PUBLIC UTILITIES COMMISSION	313	1	1	0	0	0	17	0.32%	5.43%
STATE	RICHLAND CORRECTIONAL INSTITUTION	385	2	2	1	0	0	21	0.52%	5.45%
STATE	ROSS CORRECTIONAL INSTITUTION	466	2	2	0	1	0	103	0.43%	22.10%
STATE	SOUTHEASTERN CORRECTIONAL INSTITUTION	324	0	3	0	0	0	81	0.93%	25.00%
STATE	SOUTHERN OHIO CORRECTIONAL FACILITY	597	3	2	0	1	1	186	0.34%	31.16%
STATE	SOUTHERN STATE COMMUNITY COLLEGE	60	1	1	0	0	0	1	1.67%	1.67%
STATE	SOUTHWEST OHIO DEVELOPMENTAL CENTER	206	1	0	0	1	0	21	0.00%	10.19%
STATE	STARK STATE COLLEGE	282	1	0	0	0	1	3	0.00%	1.06%
STATE	STATE BOARD OF EDUCATION	62	1	0	0	1	0	0	0.00%	0.00%
STATE	SUPREME COURT	1,174	2	1	0	1	0	17	0.09%	1.45%
STATE	TRUMBULL CORRECTIONAL INSTITUTION	319	5	1	0	4	0	45	0.31%	14.11%
STATE	TWIN VALLEY PSYCHIATRIC SYSTEM	531	3	3	0	0	0	110	0.56%	20.72%
STATE	UNIVERSITY OF TOLEDO	3,921	6	4	0	1	2	167	0.10%	4.26%
STATE	WARREN CORRECTIONAL INSTITUTION	357	0	1	0	0	0	90	0.28%	25.21%
STATE	WARRENSVILLE DEVELOPMENTAL CENTER	287	6	2	0	4	0	62	0.70%	21.60%
STATE	WORKER'S COMPENSATION BUREAU	1,572	3	2	0	1	1	147	0.13%	9.35%
STATE	WRIGHT STATE UNIVERSITY	1,009	1	0	0	1	0	54	0.00%	5.35%
STATE	YOUNGSTOWN STATE UNIVERSITY	1,107	1	1	0	0	0	17	0.09%	1.54%
STATE	YOUTH SERVICES-CENTRAL OFFICE	205	0	1	0	0	0	40	0.49%	19.51%
LOCAL	ALLEN COUNTY	861	1	1	0	0	0	30	0.12%	3.48%
LOCAL	ASHLAND COUNTY	355	2	0	0	2	0	6	0.00%	1.69%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	ATHENS COUNTY	556	2	1	0	1	0	30	0.18%	5.40%
LOCAL	AUSTINTOWN TWP	71	1	0	0	1	0	4	0.00%	5.63%
LOCAL	BERGER OHIO HEALTH	83	1	1	0	0	0	0	1.20%	0.00%
LOCAL	BRISTOLTWP	6	1	1	0	0	0	1	16.67%	16.67%
LOCAL	BROWN COUNTY	264	2	0	0	2	0	7	0.00%	2.65%
LOCAL	BUTLER COUNTY	1,678	2	3	0	0	0	86	0.18%	5.13%
LOCAL	BUTLER METROPOLITAN HOUSING AUTHORITY	43	0	1	0	0	0	2	2.33%	4.65%
LOCAL	CENTRAL OHIO TRANSIT AUTHORITY	1,204	7	6	0	0	1	93	0.50%	7.72%
LOCAL	CINCINNATI METROPOLITAN HOUSING AUTH	193	2	0	0	1	1	19	0.00%	9.84%
LOCAL	CITY OF AKRON	1,377	5	6	0	2	0	151	0.44%	10.97%
LOCAL	CITY OF ASHTABULA	110	1	1	0	0	0	3	0.91%	2.73%
LOCAL	CITY OF AVON	147	1	0	0	1	0	0	0.00%	0.00%
LOCAL	CITY OF BAY VILLAGE	110	1	1	0	0	0	5	0.91%	4.55%
LOCAL	CITY OF BEREA	170	1	0	0	0	1	5	0.00%	2.94%
LOCAL	CITY OF BRUNSWICK	130	1	0	0	0	1	4	0.00%	3.08%
LOCAL	CITY OF CANTON	661	2	1	0	1	0	39	0.15%	5.90%
LOCAL	CITY OF CHARDON	69	0	1	0	0	0	2	1.45%	2.90%
LOCAL	CITY OF CHILLICOTHE	189	0	2	0	0	0	13	1.06%	6.88%
LOCAL	CITY OF CLEVELAND	5,191	16	9	0	6	4	451	0.17%	8.69%
LOCAL	CITY OF COLUMBUS	6,173	16	10	0	4	4	358	0.16%	5.80%
LOCAL	CITY OF DAYTON	1,211	3	2	0	1	0	272	0.17%	22.46%
LOCAL	CITY OF DEFIANCE	137	1	1	0	0	0	9	0.73%	6.57%
LOCAL	CITY OF DUBLIN	656	2	2	0	1	0	7	0.30%	1.07%
LOCAL	CITY OF EATON	82	1	1	0	0	0	2	1.22%	2.44%
LOCAL	CITY OF FAIRVIEW PARK	140	1	1	0	0	0	7	0.71%	5.00%
LOCAL	CITY OF FINDLAY	232	1	1	0	0	0	13	0.43%	5.60%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF GALION	74	1	0	0	0	1	4	0.00%	5.41%
LOCAL	CITY OF GREEN	100	2	0	0	2	1	2	0.00%	2.00%
LOCAL	CITY OF HAMILTON	451	2	1	0	1	0	45	0.22%	9.98%
LOCAL	CITY OF HEATH	62	0	0	1	0	0	0	0.00%	0.00%
LOCAL	CITY OF INDEPENDENCE	250	1	0	0	0	1	8	0.00%	3.20%
LOCAL	CITY OF JACKSON	81	1	0	0	0	1	12	0.00%	14.81%
LOCAL	CITY OF LANCASTER	324	1	0	0	0	1	12	0.00%	3.70%
LOCAL	CITY OF LONDON	50	0	1	0	0	0	5	2.00%	10.00%
LOCAL	CITY OF LORAIN	343	2	1	0	1	0	28	0.29%	8.16%
LOCAL	CITY OF MANSFIELD	273	1	0	0	0	1	9	0.00%	3.30%
LOCAL	CITY OF MARION	223	1	1	0	0	0	11	0.45%	4.93%
LOCAL	CITY OF MARTINS FERRY	80	1	0	0	1	0	4	0.00%	5.00%
LOCAL	CITY OF MENTOR	467	1	1	0	0	0	17	0.21%	3.64%
LOCAL	CITY OF MIDDLETOWN	237	1	1	0	0	0	22	0.42%	9.28%
LOCAL	CITY OF NEWARK	211	1	0	0	0	1	14	0.00%	6.64%
LOCAL	CITY OF NORTH OLMSTED	351	0	1	0	0	0	15	0.28%	4.27%
LOCAL	CITY OF NORTH ROYALTON	127	1	1	0	0	0	12	0.79%	9.45%
LOCAL	CITY OF NORTHWOOD	43	0	1	0	0	0	6	2.33%	13.95%
LOCAL	CITY OF NORWOOD	104	1	1	0	0	0	1	0.96%	0.96%
LOCAL	CITY OF OAKWOOD	84	1	1	0	0	0	3	1.19%	3.57%
LOCAL	CITY OF PARMA HEIGHTS	120	1	1	0	0	0	8	0.83%	6.67%
LOCAL	CITY OF PORTSMOUTH	168	2	2	0	1	0	27	1.19%	16.07%
LOCAL	CITY OF RIVERSIDE	37	2	0	0	0	2	3	0.00%	8.11%
LOCAL	CITY OF ROCKY RIVER	383	1	0	0	1	0	8	0.00%	2.09%
LOCAL	CITY OF SHEFFIELD LAKE	41	1	1	0	0	0	4	2.44%	9.76%
LOCAL	CITY OF SIDNEY	164	2	0	0	1	1	8	0.00%	4.88%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	CITY OF SOLON	456	1	1	0	0	0	5	0.22%	1.10%
LOCAL	CITY OF SPRINGFIELD	368	2	0	0	0	2	28	0.00%	7.61%
LOCAL	CITY OF STEUBENVILLE	128	1	0	0	1	0	15	0.00%	11.72%
LOCAL	CITY OF TALLMADGE	174	1	1	0	0	0	11	0.57%	6.32%
LOCAL	CITY OF TOLEDO	1,550	3	2	0	2	0	125	0.13%	8.06%
LOCAL	CITY OF WARREN	257	1	0	0	0	1	39	0.00%	15.18%
LOCAL	CITY OF WASHINGTON COURT HOUSE	97	1	1	0	0	0	4	1.03%	4.12%
LOCAL	CITY OF WELLSTON	51	1	0	0	0	1	4	0.00%	7.84%
LOCAL	CITY OF WESTERVILLE	556	0	1	0	0	0	11	0.18%	1.98%
LOCAL	CITY OF WHITEHALL	179	1	0	0	0	1	3	0.00%	1.68%
LOCAL	CITY OF WORTHINGTON	213	1	1	0	0	0	4	0.47%	1.88%
LOCAL	CITY OF XENIA	145	1	0	0	0	1	5	0.00%	3.45%
LOCAL	CITY OF YOUNGSTOWN	484	1	0	1	1	0	36	0.00%	7.44%
LOCAL	CITY OF ZANESVILLE	247	3	3	0	0	0	14	1.21%	5.67%
LOCAL	CLARK COUNTY	1,009	4	2	1	1	1	68	0.20%	6.74%
LOCAL	CLERMONT COUNTY	1,184	2	1	0	0	1	80	0.08%	6.76%
LOCAL	CLEVELAND METRO PARKS SYSTEMS	1,302	0	0	0	1	0	9	0.00%	0.69%
LOCAL	CLEVELAND PUBLIC LIBRARY	669	1	0	0	0	1	15	0.00%	2.24%
LOCAL	CLINTON TWP	13	1	1	0	0	0	1	7.69%	7.69%
LOCAL	COLUMBIANA COUNTY	468	0	1	0	0	0	24	0.21%	5.13%
LOCAL	COLUMBUS REGIONAL AIRPORT AUTHORITY	344	1	1	0	1	0	18	0.29%	5.23%
LOCAL	COLUMBUS ZOOLOGICAL PARK ASSOCIATION	314	1	1	0	0	0	6	0.32%	1.91%
LOCAL	CUYAHOGA COUNTY	7,586	26	13	0	10	6	431	0.17%	5.68%
LOCAL	CUYAHOGA COUNTY COMMUNITY COLLEGE	1,218	1	0	0	0	1	21	0.00%	1.72%
LOCAL	CUYAHOGA METROPOLITAN HOUSING AUTH	585	1	1	0	0	0	76	0.17%	12.99%
LOCAL	DAYTON METRO LIBRARY	393	2	1	0	1	0	9	0.25%	2.29%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	DAYTON METROPOLITAN HOUSING AUTHORITY	107	1	1	0	0	0	17	0.93%	15.89%
LOCAL	DELAWARE COUNTY	1,258	2	1	1	0	0	22	0.08%	1.75%
LOCAL	DELAWARE COUNTY DIST PUBLIC LIBRARY	120	1	0	0	1	0	1	0.00%	0.83%
LOCAL	EARNHART HILL REGIONAL WATER AND SEWER	24	3	2	0	1	0	1	8.33%	4.17%
LOCAL	ERIE COUNTY	834	0	1	0	0	0	31	0.12%	3.72%
LOCAL	ERIE METROPOLITAN HOUSING AUTHORITY	27	0	1	0	0	0	2	3.70%	7.41%
LOCAL	FAYETTE COUNTY	388	1	0	0	1	0	4	0.00%	1.03%
LOCAL	FRANKLIN COUNTY	6,386	13	8	0	2	4	254	0.13%	3.98%
LOCAL	FULTON COUNTY	394	1	1	0	0	0	10	0.25%	2.54%
LOCAL	GEAUGA COUNTY	609	1	0	0	1	0	30	0.00%	4.93%
LOCAL	GIRARD FREE LIBRARY	13	0	1	0	0	0	0	7.69%	0.00%
LOCAL	GREATER CLEVELAND REGIONAL TRANSIT	2,100	6	4	0	3	0	283	0.19%	13.48%
LOCAL	GREATER DAYTON REGIONAL TRANSIT AUTH	582	4	1	0	2	1	121	0.17%	20.79%
LOCAL	GREENE COUNTY	928	2	1	0	2	0	40	0.11%	4.31%
LOCAL	HAMILTON COUNTY	4,241	5	2	0	3	1	229	0.05%	5.40%
LOCAL	HANCOCK COUNTY	508	1	2	0	0	0	26	0.39%	5.12%
LOCAL	HENRY COUNTY	300	2	0	0	1	1	11	0.00%	3.67%
LOCAL	HOCKING COUNTY DISTRICT LIBRARY	20	1	0	1	0	0	0	0.00%	0.00%
LOCAL	HOCKING VALLEY COMMUNITY HOSPITAL	332	1	0	0	1	0	10	0.00%	3.01%
LOCAL	JACKSON COUNTY	325	0	1	0	0	0	14	0.31%	4.31%
LOCAL	JEFFERSON COUNTY	599	1	1	0	0	0	32	0.17%	5.34%
LOCAL	JEFFERSONTWP	17	1	0	0	0	1	1	0.00%	5.88%
LOCAL	LAKE COUNTY	1,565	3	3	0	1	0	67	0.19%	4.28%
LOCAL	LAKETWP	33	0	0	0	1	0	0	0.00%	0.00%
LOCAL	LAWRENCE COUNTY	448	3	2	0	1	1	33	0.45%	7.37%
LOCAL	LIBERTYTWP	6	1	1	0	0	0	0	16.67%	0.00%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	LICKING COUNTY	1,014	0	0	0	1	0	39	0.00%	3.85%
LOCAL	LOGAN COUNTY	494	2	0	1	0	1	16	0.00%	3.24%
LOCAL	LONDON PUBLIC LIBRARY	16	1	1	0	0	0	1	6.25%	6.25%
LOCAL	LORAIN COUNTY	1,870	5	5	0	1	0	82	0.27%	4.39%
LOCAL	LUCAS COUNTY	2,885	9	3	1	4	3	191	0.10%	6.62%
LOCAL	MAHONING COUNTY	1,294	2	2	0	0	1	93	0.15%	7.19%
LOCAL	MARION COUNTY	534	1	0	0	0	1	20	0.00%	3.75%
LOCAL	MEDINA COUNTY	1,181	2	1	0	1	0	41	0.08%	3.47%
LOCAL	MERCER COUNTY	283	3	1	0	2	0	8	0.35%	2.83%
LOCAL	METRO REGIONAL TRANSIT AUTHORITY	420	1	0	0	1	0	78	0.00%	18.57%
LOCAL	METROHEALTH MEDICAL CENTER	8,747	10	5	0	5	1	187	0.06%	2.14%
LOCAL	MIAMITWP	26	1	1	0	0	0	2	3.85%	7.69%
LOCAL	MIFFLINTWP	35	1	1	0	0	0	1	2.86%	2.86%
LOCAL	MONTGOMERY COUNTY	3,922	9	5	0	2	3	368	0.13%	9.38%
LOCAL	MORROW COUNTY	311	0	1	0	0	0	12	0.32%	3.86%
LOCAL	MOUNT VERNON PUBLIC LIBRARY	52	1	1	0	0	0	2	1.92%	3.85%
LOCAL	MUSKINGUM COUNTY	794	1	0	1	0	0	30	0.00%	3.78%
LOCAL	NORTH CANTON PUBLIC LIBRARY	41	1	1	0	0	0	0	2.44%	0.00%
LOCAL	NORTHEAST OHIO REGIONAL SEWER DISTRICT	767	1	0	0	0	1	47	0.00%	6.13%
LOCAL	NORTHWEST FIRE AND AMBULANCE DISTRICT	19	1	0	0	0	1	0	0.00%	0.00%
LOCAL	PAULDING COUNTY HOSPITAL	236	1	1	0	0	0	4	0.42%	1.69%
LOCAL	PERRY COUNTY	425	1	0	0	1	0	13	0.00%	3.06%
LOCAL	PERRY TWP	4	1	0	0	1	0	0	0.00%	0.00%
LOCAL	PORTAGE COUNTY	982	2	2	0	0	0	52	0.20%	5.30%
LOCAL	PORTAGE COUNTY DIST LIBRARY	146	1	1	0	0	0	0	0.68%	0.00%
LOCAL	RICETWP	6	1	0	0	1	0	0	0.00%	0.00%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	RICHLAND COUNTY	936	1	1	0	0	0	39	0.11%	4.17%
LOCAL	ROSS COUNTY	620	3	2	0	1	0	38	0.32%	6.13%
LOCAL	SALT CREEK TWP	5	1	0	1	0	0	0	0.00%	0.00%
LOCAL	SCIOTO COUNTY	642	2	1	0	0	1	48	0.16%	7.48%
LOCAL	SENECA COUNTY	544	1	0	0	1	0	21	0.00%	3.86%
LOCAL	SOUTHWEST OHIO REGIONAL TRANSIT AUTH	1,158	7	3	1	1	3	157	0.26%	13.56%
LOCAL	SOUTHWEST PUBLIC LIBRARY	74	1	0	0	0	1	4	0.00%	5.41%
LOCAL	SOUTHWESTERN OHIO COUNCIL OF GOVERNMENT	19	1	1	0	0	0	1	5.26%	5.26%
LOCAL	STARK COUNTY	2,463	0	1	0	0	0	99	0.04%	4.02%
LOCAL	STATE TEACHERS RETIREMENT SYSTEM	465	2	2	0	0	0	11	0.43%	2.37%
LOCAL	STEEL VALLEY REGIONAL TRANSIT AUTH	22	1	0	0	0	1	1	0.00%	4.55%
LOCAL	SUMMIT COUNTY	2,993	7	3	1	5	1	209	0.10%	6.98%
LOCAL	TOLEDO AREA REGIONAL TRANSIT AUTHORITY	298	1	1	1	0	0	38	0.34%	12.75%
LOCAL	TRUMBULL COUNTY	1,301	13	8	0	6	0	78	0.61%	6.00%
LOCAL	TUSCARAWAS COUNTY	574	1	1	0	0	0	30	0.17%	5.23%
LOCAL	UNION TWP PUTNAM COUNTY	6	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VIENNA TWP	13	1	0	0	0	1	0	0.00%	0.00%
LOCAL	VILLAGE OF BETHEL	18	1	1	0	1	0	2	5.56%	11.11%
LOCAL	VILLAGE OF ENON	17	1	0	0	1	0	0	0.00%	0.00%
LOCAL	VILLAGE OF GRANVILLE	43	1	1	0	0	0	3	2.33%	6.98%
LOCAL	VILLAGE OF LIBERTY CENTER	20	1	1	0	0	0	0	5.00%	0.00%
LOCAL	VILLAGE OF MAYFIELD	66	1	1	0	0	0	2	1.52%	3.03%
LOCAL	VILLAGE OF NEW BOSTON	23	1	0	0	0	1	1	0.00%	4.35%
LOCAL	VILLAGE OF PAULDING	46	1	0	0	1	0	0	0.00%	0.00%
LOCAL	WARREN COUNTY	1,318	5	1	0	2	2	39	0.08%	2.96%
LOCAL	WASHINGTON COUNTY	548	1	1	0	1	0	20	0.18%	3.65%



Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LOCAL	WASHINGTON COUNTY PUBLIC LIBRARY	43	1	1	0	0	0	2	2.33%	4.65%
LOCAL	WESTERN RESERVE TRANSIT AUTHORITY	109	0	1	0	0	0	9	0.92%	8.26%
LOCAL	WILLIAMS COUNTY	451	1	1	0	0	0	9	0.22%	2.00%
LOCAL	WOOD COUNTY	1,070	2	3	0	0	0	32	0.28%	2.99%
LOCAL	WORTHINGTON PUBLIC LIBRARY	142	1	1	0	0	0	1	0.70%	0.70%
LOCAL	YOUNGSTOWN METROPOLITAN HOUSING AUTH	59	1	0	0	1	0	7	0.00%	11.86%
LAW	ASHTABULA COUNTY	38	1	0	0	1	0	5	0.00%	13.16%
LAW	BUTLER COUNTY	138	1	0	0	1	0	26	0.00%	18.84%
LAW	CARROLL COUNTY	23	1	1	0	0	0	2	4.35%	8.70%
LAW	CLARK COUNTY	96	1	1	0	0	0	46	1.04%	47.92%
LAW	CLERMONT COUNTY	80	2	1	1	0	0	19	1.25%	23.75%
LAW	FIVE RIVERS METROPARKS	25	1	1	0	0	0	9	4.00%	36.00%
LAW	FRANKLIN COUNTY	623	1	1	0	0	0	125	0.16%	20.06%
LAW	GREENE COUNTY	60	2	2	0	0	0	38	3.33%	63.33%
LAW	HAMILTON COUNTY	334	1	2	0	0	0	106	0.60%	31.74%
LAW	HUBBARD TWP	7	1	0	0	1	0	0	0.00%	0.00%
LAW	KENT STATE UNIVERSITY	19	1	2	0	0	0	4	10.53%	21.05%
LAW	LICKING COUNTY	117	0	1	0	0	0	30	0.85%	25.64%
LAW	MEDINA COUNTY	68	1	1	0	0	0	14	1.47%	20.59%
LAW	MONTGOMERY COUNTY	230	1	1	0	0	0	119	0.43%	51.74%
LAW	NATURAL RESOURCES ADMINISTRATION	321	1	0	0	1	0	54	0.00%	16.82%
LAW	NOBLE COUNTY	25	1	0	0	0	1	1	0.00%	4.00%
LAW	OHIO UNIVERSITY	19	1	1	0	0	0	5	5.26%	26.32%
LAW	PIKE COUNTY	18	1	1	0	0	0	4	5.56%	22.22%
LAW	PORTAGE COUNTY	66	1	1	0	0	0	11	1.52%	16.67%
LAW	PUBLIC SAFETY ADMINISTRATION	88	2	0	0	1	1	14	0.00%	15.91%





Division	Employer Name	Active Employee Count	Submitted	Granted	Denied	Canceled	Year End (In-Process)	Active	% Granted to Active Employees	Total % Disability Recipients to Active Employees
LAW	ROSS COUNTY	27	1	1	0	0	0	10	3.70%	37.04%
LAW	STARK COUNTY	178	1	1	0	0	0	16	0.56%	8.99%
LAW	WEST CHESTER TWP	72	1	0	0	0	1	11	0.00%	15.28%
LAW	WOOD COUNTY	55	1	1	0	0	0	11	1.82%	20.00%